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(¥) A friend to all is a friend to none.

37 7 HAfH Qo= ==
(A) s+3F
(C) o+ G TIF 9?2
4. He can see something 1s the‘h ky
Why don’t we have a look? The nghtn-word " (A) 6 (B) -6
in the gap will be . - —
(A) o (©)3 ™3 [aesd
- (C) ﬂew L 8 J 345 _ : . '
5. I know you’re telllng the truth”so I’ll back | |'Solve: [002]| = 3(0—0)-—4(16— 0)+ 5(14—0)
you that. The appropriate 678 | : : -
preposition in the gap will be :
(A) out (B) up =-64+70=6 . .- )
(C) by .(D) at . | —

6. Somcone illegally entered the warehouse
last night. The meaning of the underlined 21, EXAMINATION *HOR SrFRGT 3“5 W

e —
e ——

PP TR r =

word is ’TWTCTI‘:IW? |
(A) broke away (B) broke into ( A) (B ) 11
(C) saw into - (D) saw through + |
Al 4x" -3x+1=0 WWWWWW? - (C) 11' o (D) 1_1_1- B
4 . |
) 3 (B) '1_6' (€) 'Z | 11! 11 2 ks
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z0e f(/(x)) ST T
(A)9x+16
(C) 3x+4

Solve: f(x)=3x+4, f(/(x))=/(x+ 4)+4

_oy+12+4 =9x+16

(B) 16x-+9

(D) 4x+3 ]

e B —— e e . Bl & S R e, T e

. 1. I J'z: 25!‘ - =1
| Solve: 9x° 25y =2 TR
2 [rg_
e=\[n2.:b 1 255':9 =‘g'
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Solve: A——{ 21%x9—(- 3)(-3 3))

.l.{ 18 — 9 .--—-A=""'_

AN
581 Ox* +25y" = 225 WWW? 3
. - et (D) <
(A)% @)y <r 1 () 5

°¢ |
G T TG T G357 [_Kns: Dl_
(A) % B4 (©OF (D)

| ' X
(A)it4—+c (B) S+¢
(C) lﬁx3+c (D) lnx2+c.
2e3ln X eln.t’

| Solve: I———dx =2_[—xrdx -

x o —2Inx+
=2I_4.dx FZI_ =2Inx+c¢

' X saa

;rpa 71‘3 T

ki £~ B) — |
(A2 (B) 22 i §
] ‘ ﬂa .
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Solve: 1;4(;?11::)- dax = 4_':(tan B J:)2 d (lan" x)
- A1
=4 _(tan; II. - ;(tan"' l)J - (tan" 0)‘
" -0
I = i(ﬁ)a ~0 L z
34 48
Wl y=£+3 WH (E}i)dr=$‘§5?
4 dx
(A)xT:+c (B) x*+c
(C) x?s +c (D) cer5R T[Ans:Al

4

d 4
Solve: y =%+3=I[Ex}i). =.xT+ C

Solve: 2@1-—0 =2-\ﬁ6.-5 =2ﬁ £

T

W |

4 o
3
(A)——= V3 (B):{t;
22 _
J3 s
Solve: S::zg—Cosir-:—{——x—-_ J_-
38 | (281)10,@1?:@15@131?@1@?
(A) (10001 1001); (B) (100110001),
(C) (100111001), (D) (101010011),
Solve:

WI y=4x,x=2 GR x ¥ WA W EA (281 ),, = (100011001 ),
CFATT T T GIT? |
(A)2 B)8 N\
1
D) —
(C) 4 ] (D) 2
y=d4x--=(1)
Uns: :
Solve: x=2————(I)
y=0-=——(IT) T

3¢’ i@ ormmEm 9 IREE st aftws 90 ml |

1
=—(0+16+40-0-0-0) =8
( ) QYAGLEA R T 619 Jfd FA0T 9 A

R0 |

x> +y 4x+6y+3 OWWW@W? . 76menﬂmmWﬂﬁﬂmﬁtfﬂW|) |
(A) 140 mm (Hg) (B) 280 mm (Hg)
(A) 210 (B)g— _(C) 160 mm (Hg) (D) 260 mm Hg) |
ks 2 AT ¢ PV—PV=>P——PV"'90X760-900 '
Solve: gp= Jg +fi=c, p= \/4+9 3 e : . 76 .
=10 =20 =210 [Ans: A . AP=900-760=140 mm (Hg) _ [Ans:Al
R X +y*+8x=10y+5= 03efo w X WE Q“" AT oG o T TR Nore ;"“'-;'
QF IS WP AR T (A) T72 (B) TR . =
(A)6 (B) 3 . (C) Erft (Izl[%?F FeMT
- 291 Na;CO; @ C @7 ¥S7[4 Y& AR~~~
(C)45 (D) 2V5 (A) 43.4% (B) 45.3%
: (C)11.3%

. (D) @F6R W
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e " (D) KNO; - [Ans:D]
i bl 0/ — 0 p e T TR - : _'f
C=12g - 7o-x100% =11.3% e i .J
| w1 @F 2 & R wds sfwm e ~ (C) iz o erfimmeE Ea
Rufee W voo GMATS | RftFfSr mw waw (C) @iz @ Tpiiees =
Sk . (D) @iz @ frztma =eeAns] ,-
(A) 0.0138 min™° (B) 01386 min" iwwwrcqcmmwl |
(C) 0.0693 min™ (D) 1.386 min" P — g = g ,
TS A = 0;93-':0'(;93 =0.l386mim"ll-t\ns . B (A)Cr (C)Mo (C) o _ - 3
S 0d | fisa @Tafs R TSR T 3
w1 25C 'GT"WETPI AMIET N0y 92 NO, @3 . (A)- (B) — CHO — |
R BT T 0.75 atm € 0.25 atm | (C)— COOH (D) - CO @
N0, e Rigems 77 <z am fefr vy | CHs-CH,-Br+KOH (alc)—>CH,=CH, «f3
(A) 0.833 atm (B) 0.0083 atm | |
(C) 0.0833 atm (D) 8.33 atm
2
T ¢ N2Oy 2NQO, ... Kp =P O,
PN 204 Y\ &
_(025) _ N i
°o | WWW@WESWW?@ "2
¥ | Gfbg T &2 -'15:' ‘.
(A) SRS 1T (B)tﬂvﬁﬁg;,%ﬁ’r N | (A)ﬁﬁ’rerMnm |
(C) TeifFF @ (D) SIELIM T~ (B) SH ZnCl, e =iy HCl- st |
.&{Ws: d (C) Zn(Hg), v HCI i :
o5 1 KMnOj4 @ Mii & ST ST 307 ) (D) se HNO; ¢ s H,SO;  [Ans: B|.
(A)+3 (B) +5 (CO)+77  (D)+9 | &1 & EACR el eI AT &)
g e KN'MT0,78 Ans : C =it I3 =0 o .
oX | FU57 G 9% STRUOTH A oA (A) HOCI (B) Zo/H,0 @
(A)O-F (B)H-F (C) =@ KMnO; (D) ez KOH 1
() H-Cl (D)O-H 8| ITEIRA [ &M-WF TR IF T |
00 | 3 CNeT RN WA A S (A) "FreRe  (B) AeReafs |
WAFLA R oo 3d°4s' = 1w ARfie (C) FAGITS T2NB- (D)wmasrrms m:
AIHoR SEEH @6 A7 55 S - o Vo il ,
(A) 8% *fm Gr-IB (B) 8 r- 7
() sinfn GrVIB_(D)enwGrin | °°' %é;’“ Be=bl-] Wm R
AN ¢ 3d°4s' e o 84| T 8¢ WA ¢ WR | (A% (B0 - (C)2
TR F9 5+1=6 | & VIB BBI “FF‘TF[ @IS ﬂm.:ﬁﬁfm by -'
"84 1w, Gr—VIB |Ans : ﬁt‘f-rmltﬂmwmﬁrm
08| TR GF ALFO
(A) NaCl (B) NaNO;
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Cﬂvﬂfﬂ' vt e (0, 2) a (3, 5) it wn (B) TR P APTT T 0wy o II
WRICEN M1+ «rfm ArGHT WY , 3/ ,
(A)3 nw (B) 5 mg™ (C) @3 ¢4 iz w4 o 2 ey |
(C) 2 ms” (D) | ms™ e |
B (D) &g catron Fif“m 77 wf4asz w5z Ao |
Solve: ﬂ'-'— 33 = |ms” . Anﬂ:lJl ) K & @
{ - : |
B¢ 1 ab sl caua Aty = sin(n - 47x);3 o ‘;12313328]'{98?; ";::T m‘%ﬁ:m.
g ran wf @ Wi e og | T o ' & TG 2 g
By PRy (B) 1 cm
( ( (C)2 D)0.5m
A) 45m( C4) l 1)11_)( ) m_(3) (C)0.1ecm (D) 28.98 cm
Solve: = Sinr = zﬂZ Solve: Solve: AT =£P‘fFlF _ ‘
277&” T z . 1 —78.98K
— (/] 28.98%x107"| Uf=HEl T .
o Sm( A Z] ( ) - = A= 78 98 S F3% =28.9x107mK
' =28.98x107K

e afea T3 7T 1=

IS

(1)@ (11) 7 T %0, -zfx 4::;5:).—- Am-ﬂ'

BY | TR SN FICATEIED cﬁﬁrﬁ ﬁw

e =y ﬁmmmﬁﬂ
0 0 0 P lUL \.. ) . l
(A)40°C (B) 100°C (D) 232°C( . ._ / A. S
3ol W _F-32 \\/”j_ )Tﬁawéﬁmwm
olvVe: — &=
- 9 | «® @0“ (B)meﬁnm@mm

_32 | omfmm omem e C=
A - | (C)ﬁmmm@rmm (D)@F@ETJ

=S~ 9 TIETRE CWTR ST
=10y —160 |
i ,'Z Solve: B=—‘£‘—ﬂ-’E lAns : D)
.'.x=160 C L 2;-‘ e . A
89 | WHEIAY AfGFAT O LR o ¢ | fea e e Afew?
(A)ﬁﬁmwawfkm PR —
(B) @ afimm PV = K (A) il
(C) FHEIANT corey AT N ST 4G (B) @b 3170 fafes fTerzs
8y |l TR ot aafl wenw i @ TS (C) @To7 ZAG 1Y T i
oy 1 fe ol oot 7o 0 O gt T (D) @S T -,
mﬁ: i (B) 9 G'%SIWprWQ‘Tﬁ07Vﬁ'@T°H‘?fWW12mA
Q)3 13/_3 eqT MaT T aw freT N 0.3 V T
Solve: Tom AT n oM, o @t Jpear . T |
!, offE cav Fenes w ena ol 9 aA ) _ m WW 12 mA TG | TR*TTT (A4 i ﬁ :
s T oo Wi @®nre
ey | o ol
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golve: R=—— ﬁm&\/:ﬁl{ |
Al ;‘TTL‘E Al=12mV =012V
2 =250 [Ans: 3 gt sl » _
012

¢8| tﬂﬁ‘ﬁwﬁfﬁ@fmwﬁmm# 307 =
7 2 STE 7
(A) 0.5 (B) V2

(©UN2  (D)431/2

Sin A+6

2
Solve: H =———r7—
Sin /_L

60+30

Sznﬁ/
cre n%mm?
(A) RWWWWWM‘TW

(Bmﬁqu«wm

3 Ans:iﬂ
Rpfs @ 6 =30°

| ferem @@ 4 =60°

(D)mawwmﬁmammwﬁﬁ@ﬁ

¢ | mﬁﬁﬁmmwﬁﬁmwmwﬁw?

(C)wﬁﬁ‘r:raﬁwﬁﬁmmmmm
() UTASITAIRGIRR AT T MTA G4 TR
. @ 207 (OO Coal T4 ZH @
| eq | mmwwmmmsmww
AR et e @ qad [{AfS R T F67

(A) 45° (B) tan '2
(C) 30° (D) tan™'(1/2)
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’
Solve: tano =—
H

= § = tan"(I—J |
2V

) o

b
TR Y

WI'I\zl‘fW AT H =2V
S @™ §=2

F

e —

¢Y | - BB Apfes Afs, 2 ¢ Zomas A ‘100W-
230 V, ‘80W-230V’ @ ‘1KW-230V° 40
R | (R0 @14 IO IN?
(A) TS (B) #ir1
(C) lZom (D) S 8 A" Q1Y A

2
_230° 5900
1000

"'E’rm I TG TS FoEd A0 O *I% TJ
(A) 81.9x107"°J  (B) 9x107"°J
(C) 27.3x102J (D) 3x107°J

Solve: E = mc?

=(9.11x107" )x (3x10°f % m=9.11x107' Kg

ST (71
=81.9x107"°J C=3x10%ms™
Ans : Al ST 5 E = 7

Yo | wmﬁﬁaaﬁm@ﬁwum 10 A,'

5A @ I o3 37 G2 20 A (37 - | IPFT
A FACT 6 G T TJ

(A) I5A (B)10A (C)5A  (D)-5A
Solve: 104+5+7=20 = [=20+5 =5A
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